1. (15 points) Evaluate the iterated integral / f ye™ dz dy.

rleCszi\( = r E‘!c“AuJT :J E"lch{ e Y){ c 3) BH\
SUe Ay il a \6 e,

2. (30 points) Write each integral as an equivalent iterated integral that would be reasonable
for you to evaluate. Do not evaluate any integrals.
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3. (15 points) Find an iterated (triple) integral for the volume V' of the solid that lies within
the sphere z? 4+ y*> + z° = 4, above the zy-plane, and below the cone z = y/z° + 32
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(a) Evaluate the line integral [ F - dr where F(z,y) = zyi + 35%j and r(t) = 11t4 + 3 for
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(b) Evaluate [, 2z ds where C consists of the arc C; of the parabola y = z* from (0,0) to
(1,1) followed by the vertical line segment C> from (1,1) to (1,2).
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